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K4 (F—L%A) BERBF | BENKE | BEME |BEE=IR
1 XTE(EvY) 2143 — 66 91 420 319
2 X E (Ew%Y)Respe 25 21 543 180
3 EH(F)(EvY) 15 8 652 64
4 Eg(EYY) 5 3 625 19
5 EH®@AEVX-EvY) 5 30 143 0
6 F(EYY) 4 8 333 0
7 BAREYY) 3 3 500 29
8 BRGV—2-EvD) 2 3 400 0
9 WHR G —-Evy) 2 7 222 0
10 HE(EYY) 1 0 1.000 0
11 2E(EvY) 1 0 1.000 8
12 Ba (&) (EvY) 1 1 500 0
13 ARHE(EYY) 1 1 500 8
14 ns &) (Evd) 1 1 500 1
15 INL(B) (B43—E YY) 1 4 200 0
16 EEMEVX-Ev)) 1 6 143 0
17 515 (Evy) 0 0 — 0
18 wA(Evd) 0 0 — 1
19 AREYY) 0 0 — 1
20 Hk(EvY) 0 0 — 9
21 EH(EVY) 0 0 — 1
22 BE (=) (EvY) 0 0 — 0
23 WA (K) (Evd) 0 0 - 1
24 W &) (Evd) 0 0 — 4
25 BER(J)—2-EvY) 0 1 .000 0
26 Mz E(EvY) 0 1 .000 2
27 KI(EYY) 0 1 .000 0
28 BEEYY) 0 1 .000 3
29 INGS(EvY) 0 1 .000 0
30 EBR(J)—-EvY) 0 1 .000 0
31 B2E(RPEVX-J—1-EvY) 0 1 .000 0
32 EBREYY) 0 1 .000 0
33 HHE((A13A—EYY) 0 1 .000 2
34 HlEyy) 0 1 .000 7
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K4 (F—L%A) BERBF | BENKE | BEME |BEE=IR
35 we(R)(E—X-EvY) 0 5 .000 1
36 =B (EvY) 0 6 .000 0
Eviov—o 128 184 410 660




